3. BRI A - £F tan i 1 ) B B - 2 (LB A2 108D 4az)

A
IESL |BED—KR]  BERF &5t | 0~9% |10~195%[20~297% | 30~ 395% | 40~49:% | 50~595% [ 60~697% | 70~ 795% [ 80~897% | 90F LA F
1 C16 = 139 0 0 0 0 6 15 30 39 41 8
2 C61 HIISLR 110 0 0 0 0 0 3 31 48 27 1
3 C18 i) 103 0 0 0 3 2 11 22 45 16 4
4 C34 S[E X XU iT 83 0 0 0 0 4 7 15 36 19 2
5 C67 BE Bt 69 0 0 0 0 0 7 9 27 20 6
6 C50 ZLE 56 0 0 1 4 11 15 10 10 4 1
7 C20 [E}5 (Ra,Rb) 43 0 0 0 0 0 6 10 14 13 0
8 C44 RE 41 0 0 0 0 2 2 7 5 18 7
9 C25 P figh 28 0 0 0 0 2 3 6 9 7 1
10 C53 F = 2850 27 0 0 2 10 8 2 4 1 0 0
St 699 0 0 3 17 35 71 144 234 165 30
XKW (F8#8)(C18~C20) 1644F
£k =
10"'19,1"
—A— RIS fR
—u— RS
80~ 897 PO~ 297 - SERRU
—— fERt
——3IE
70~79:5 B0~ 395% —=— E5(Ra,Rb)
R
—m—
40~ 497
—o— FEIEE

50~595%




90=% L

80~ 8975

70~ 7955

60

Lﬁ"&

D0~ 2975

B0~ 397%

[

50~59i%

90mE L

80~ 8973

70~791%

6(

50~597%




50~59i%

DO~ 29755

7. EF%(Ra,Rb)

0~9%
905% LA 1o~19%
80~ 8955 DO~ 297%
70~ 7955 B0~ 397%
14
60~ 695% 40~49FE

50~595%

9

80~ 8975

70~7955

60

10~19l§§

DO~ 297%

50~595%




b

DO~ 2977%

B0~ 397%

[

50~597%

10.F = 2550

9(

6




